7 FE (ATEABAZ)
NFE BRI AR B[R

KRN A R
* E (120 %)

(FEFH)

1. BEEOHTIH5H5E TCIOMT LBRERREMACTIEWTELA,

2. COMFTOREIEN R=Uh b ThET, F/2, BEAMRILLKR THERMKIZ
2PN ET. BEEDLBERBOSR H -5, ZOMT, BERK TEH
RERER L, AT - ALTHELUARIOTEALEM L H UL, FEHITEEE
(I o RN R

3. BERAKICIIZRET ERANTEIMO TN TN 2B T oY) 7. BEBEZOHTRIC
o T, TXTOBRBERAMKE 4 KR) ODZRETW (St 8 BT ITZRET LRI
AL X,

b COMFTOEMERBIIBABTEIRNIERL TLA L,

b, REIILTRERMDIEE S N3G (BREFTCRMOET - LI L LIHRT S
FRERMOF)ITEEANL LIV, Th, HEINAFPIRICEENDBREITR KR
ST

6. BZEAMIEIFLT > TV ITEH A

7. JOMFLTERMIEIFLIRY LIy,

E1(1)



LR RS O G
2.

o

F'tﬁ% %Ti

ST IEEPT M OBRTIENR
9 RX—
I %M1 1178

[FAR] -+ 2023 4E (F4E) - -
l
[1F] +++2023 FE (RrHClx TERE] ).




Read the following text and answer questions 1-12 based on what is written in the

text. The explanatory notes for the words marked with an asterisk (*) are provided

after the text. (BL5% 36%)
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Adapted from: Rick Rubin, The Creative Act: A Way of Being. Penguin Press, 2023.

Notes:
move: CIHECEEL YD) —F
ingrained: & <{ L AD\\ 7z

Question 1. What is the historical significance of the game Go?

A. It is the earliest board game that is still played by people today.

B. It is the first board game to use dice.
C. It was created by Roman generals for strategic purposes.
D. It was the first board game played by Al.
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Question 2.

Question 3.

Question 4.

Question 5.

Question 6.

Question 7.

How did the Al program AlphaGo learn to play the game of Go?

A.

B
C.
D

By following traditional Go manuals.
By observing professional Go matches live.
By studying with human coaches.

By teaching and playing against itself.

What was unique about AlphaGo’s move 37 in the second match against the

current champion?

A.

B
C.
D

It was a defensive move never seen before.
It was a mistake that led to the current champion’s victory.
It was a move recommended by past champions.

It was a new move that did not follow traditions or conventions.

Why did the current champion retire from competition after playing against
AlphaGo?

A.

B
C.
D

He believed he had mastered the game.
He wanted to train other players.
He was offered a better opportunity elsewhere.

He was upset by the experience.

How can approaching a task with ignorance be beneficial?

A.

B
C.
D

It helps remove barriers to progress.
It increases our knowledge.
It limits the possibilities available.

It makes the process predictable.

What is one advantage of experience mentioned in the text?

A.

B
C.
D

It allows us to engage in tasks with a fresh perspective.
It encourages us to avoid patterns.
It increases excitement.

It provides us with basic knowledge of tasks.

What is a potential disadvantage of relying on experience?

A.

B
C.
D

It makes breaking new ground for tasks impossible.
It increases the potential risks of tasks.
It removes the opportunity to engage innocently with tasks.

It rules out innovation.
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Question 8. Which of the following is NOT mentioned as a childlike superpower in the

text?

A.

Being in the moment

. Being radically honest without consideration

B
C.
D

Having the ability to multitask

. Valuing play above all else

Question 9. What is one reason children’s emotions can change so easily?

A.

They are taught to manage their emotions.

. They consider future consequences.

B
C.
D

They don’t hold on to a story.

. They have a deep understanding of their emotions.

Question 10. How might someone who has never left a landlocked town experience the

ocean for the first time?

A.

As a fantastic experience

. As an uninteresting event

B
C.
D

With indifference

. With a sense of familiarity

Question 11. What is a way to realize how amazing your surroundings are?

A.

Question 12. For

See what’s present around you as if for the first time

. Spend time studying nature

B
C.
D

Talk to people who have had different experiences

. Travel to new places frequently

each of the following, explain in English. Do not copy complete

sentences from the text.

(a) What role does the lack of preconceived notions and cultural norms play

in AlphaGo’s success? Explain in approximately 30 words.

(b) What are the key characteristics of “beginners mind’? Explain in

approximately 20 words.
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[1h22]

Phoebe Weston, “No birdsong, no water in the creek, no beating wings: how a
haven for nature fell silent.” The Guardian, April 16, 2024.
<https://www.theguardian.com/environment/2024/apr/16/nature-silent-bernie-krause-

recording-sound-californian-state-park-aoe>  (—3F2 %)
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If you could spend a day with a famous person from the past, who would it be,

and why? Write a 150-200 word essay in English. (BL =% 25%)

(1)
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